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What are the various strategic decisions that are involved in international
business ? How do such strategic decisions make a difference in business
environment ?

OR
(1)  Write a note on “New International Economic Order”.
(2) What is economic co-operation ? How does it help in improving the

bargaining power of the countries in international trade ?

Answer the following questions as true or false :

(1) Entrepreneurial role of the government is prevalent in a socialistic
economy.

(2) Common law are written laws.

(3) Improving the value systems of an organization is a micro environment or
internal environment.

(4) Free trade exists in a capitalistic setup.

What is Customs Union ? Discuss the effects of customs union on production and
consumption.
OR
(1) What is technology transfers ? State the favourable effects of technology
transfers on the economy of a country.
(2) Write a note on WTO as a dispute settlement body.

Write answers in one line :

(1) Is India a member of European Union ?

(2)  What s the full form of UNCTAD ?

(3) Whatis FERA ?

(4)  Which are the Customs Union in which India is a member ?

[Max. Marks : 70
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3. (A) Discuss the home country perspective and host country perspective in the
international business. 14
OR
(1) Write a note on political environment affecting international business. 7
(2) Write a note on legal environment affecting international business.

(B) Give answers in one line :
(1) What are the two avenues for the settlement of international trade disputes ?
(2) What is the law based on the religious precepts ?
(3) Whatis FEMA ?

4.  (A) Give the meaning of culture. Discuss the importance of understanding culture of

host countries before investing in that country. 14
OR
(1) How does contrasting cultural values act as a hindrance to international
business ? 7

(2) What is non-verbal communication ?

(B) Answer in one line : (any three)
(1) What is cultural adaptation ?
(2) What s cultural shock ?
(3) What is masculine culture ?
(4) What is feminine culture ?
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1. (A) What is business environment ? Explain the various types of business
environment in detail. 14
OR
(1) What s forecasting ? Explain the techniques for environmental forecasting. 7
(2) Explain the importance of environmental analysis. 7
(B) Attempt any four from the following : 4
(1)  Which of the following is not a characteristic of business ?
(a) Growth (b) Profitability
(c) Survival (d) Liquidation
(2)  Which of the following is not a characteristic of business ?
(a) Economic activity (b) Social welfare
(c) Social activity (d) Uncertainty
(3) Which of the following is not a technique of environmental analysis ?
(a) EMS (b) SWOT
(c) ETOP (d) MIS

(4) The Micro, Small and Medium Enterprise (MSME) Act was passed in
which year ?
(a) 1991 (b) 2001
(c) 2004 (d) 2006

(5) As per Micro, Small and Medium Enterprise (MSME) Act, what is the limit
of investment for tiny industry ?
(a) R 10lakh (b) R 251lakh
(¢) T 50lakh (d) R 75]lakh

(6) As per Micro, Small and Medium Enterprise (MSME) Act, what is the limit
of investment for small scale industry ?
(a) I 25 lakh to ¥ 50 lakh (b) R 25lakhtoX 1 crore
(c) RT25lakhtoX2.5crore (d) < 25]lakhto 5 crore
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2. (A) What is economic environment ? Explain the various components of economic
environment in detail. 14
OR
(1)  Write note on : “Consumer Rights” 7
(2) What are the Social changes ? Explain the effects of technology on society. 7

(B) Attempt any four from the following : 4
(1) The monetary policy in India is framed and announced by
(a) Trade Ministry
(b) Finance Ministry
(c) Finance Secretary
(d) Reserve Bank of India

(2)  Which of the following is not included in the fiscal policy ?
(a) Taxation policy
(b)  Public debt policy
(c) Public Expenditure policy
(d) Credit creation by banks
(3) The birth rate in India is calculated on the basis of
(a) Per 100 persons
(b)  Per 1000 persons
(c) Per 5000 persons
(d)  Per 10000 persons
(4)  Which of the following aspect is not included in the culture ?
(a) Values
(b) Beliefs
(c) Traditions
(d) Negotiations
(5) According to Companies Act-2013, provision of CSR is applicable to those
companies whose annual turnover is
(a) 1,000 crore
(b) 2,000 crore
(c) T 500 crore
(d) T 100 crore
(6) Which of the following is not included in the fundamental rights of the
Indian Constitution ?
(a) Right to Equality
(b) Right against Exploitation
(c) Right to Freedom
(d) Right to Property
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3. (A) What is Industrial Dispute ? Explain the cause and preventive steps for Industrial
Disputes in detail. 14
OR
(1) Explain the objectives of Quality Circle. 7
(2) Explain the classification of Companies as per Indian Companies Act-2013. 7

(B) Attempt any three from the following : 3
(1) How many Shareholders of the public company are required to sign the
Memorandum of Association ?
(a) 3 (b)) 5
(c) 6 (@ 7
(2)  Which of the following is the constitutional document of the company ?
(@) Memorandum of Association
(b) Articles of Association
(c) Prospectus
(d)  Audit Report
(3) Which of the following is not the form of labour participants ?

(a) Agency role (b)  Profit Sharing
(c) Labour directorship (d) Co-partnership
(4) In which country the concept of Quality Circle was started first ?
(a) America (b) Australia
(c) Spain (d) Japan
(5) Which of the following is not a function of the trade union ?
(a) Ownership of unit (b) Collective bargaining
(c) Declaration of strike (d) Labour representation
4.  (A) Explain the importance and scope of International Business in detail. 14
OR
(1) Explain the objectives of World Trade Organization. 7
(2) Discuss the objectives and the fundamental principles of SAARC. 7
(B) Attempt any three from the following : 3
(1) UNCTAD was established in
(a) 1950 (b) 1964
(c) 1972 (d) 1979
(2) International labour organization was created in
(a) 1890 (b) 1899
(c) 1905 (d) 1919
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Bank for International Settlement (BIS) was established in

(a) 1930 (b) 1940

(c) 1945 (d) 1958

How many countries are the members of NAFTA ?
(@) 2 (b) 3

(¢ 5 (d 7

Which of the following is not a part of the European Union ?
(a) European Council

(b) European Central Bank

(c) Court of Justice of the European Union

(d) International Court of Justice
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